251008.notebook October 08, 2025

Midterm covers everything from Chapter 1 and Chapter 2.

Briefly discuss Midterm, Monday or Tuesday, October 13th or 14th 8 am - 6 pm.
HOR 107. Bring pencil or pen, 1-page, 2-sided cheat sheet.

Test is 2 hours.
2-sided cheat sheet, scientific calculator, and photo ID.

970-290-0550
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We restrict sine and tangent to [:E_E,.‘Tllj to keep it 1-to-1, so that the inverse is a function.

(-5, for drgat.
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10. Consider the equation 4cos®(2x)—1=0.

a. (5pts) Find all solutions x, in radians, to the equation in the interval [0,27). Ibetter see pictures!

b. (5 pts) Find all real solutions x, in radians.
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If you're studying off the old midterm, remember that #s 14 - 19 are from Chapter 3 and

are not included in your midterm.

Click here for last spring's Midterm and its solutions.


https://harryzaims.com/public_html/122/1420-spring-25/
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9. (5 pts) Find the exact values of sin[%} COS[%J, and tan{%J , given

that sin(u) = —% and
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